(BE)F4R EXBIGHARBEE (1/2)

[FREE] E2EEL  HNMEHHEASH
20214F & 20224 E 20234 E
(5=48) = (%’ﬁﬁ%:‘&? (*JJETE)Z 2024&,’#‘ 2025&,’#‘
e 1MPall m 0 0 0 0 ol
= 1MPa5E;ﬁ
,O®% hE 0. 1MPabLE m 2,431 11,576 5,656 12,023 5,982
BE 0. 1MPaki m 48,791 41,076 36,385 39,665 34,591
] =15 1MPall k m 0 0 0 0 o] |
o 1MPaXkis
5 B 1 hE 0. 1MPalLE m 170 118 110 2,400 2,900}
= B’E 0. TMPaki# m 6,586 2,754 3,146 1,900 1,800]
& =4 1MPall t m 2,713 2,713 2,713 2,713 2,713
1MPaki
EE% hE 0. IMPaLLE m 398,379 409,837 415,383 425,006 428,088
EE AT .
BERLER BE 0. 1MPaki m 2,259,397 2,297,719 2,330,958 2,368,723 2,401,514
= &t m 2,660,490 2,710,270 2,749,055 2,796,443 2,832,316
HY = m 6,756 2,872 3,256 4,300 4,700|
(FEEEREFE)
gy " =® HRADEA HWER IERETH IEDEF {F AR -
7 e i o
& = EERGREE | ) (MPa) (m) (m) FEEA IR - B
FE-FAMHE =m.5E
B T E (E|srran~gama ﬁ%gifﬂ iR 390.6 0.971 663 - 20232 2023.12 5
ﬁ) /*ﬁ ==]
BEHERH 5 s JIgTH _ =n
Pl NETHETE~MENTE |G 204.7 0.971 600 2023.6 2023.11 %
f%*t"’ AEHATEER BSHATHEER 304.7 0.971 1712 - 2022.12 20237 %

27




(BE) F4E

FES BtiG AR fRETE (2/2)
[(HRAILE—]
20215 20224 20234 = =
(4 (EEEL) () 20245 20255 %
HE# H 2 2 2 2 2
FEEERHARILE—5
FBAE m 267,300 267,300 267,300 267,300 267,300|
(HARARILAE —DHREFETEH)
o = Bz " o = EHh ITEDEF {E AR -
[ REHESL ]
[H{Jz{/\%bﬁﬁﬁﬁuX%EEX%E]
Favk B 10} BHED BBTEHO |AEE| IE0ETF 3 FARALA Apaat BN I<E 1 LRI AR (FF)
No. 27 HE | SATENSOEE | (m) FEEA FEER 20035 202 200 E
[ RETELL ]

28




